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P(AUB)=P(B)+P(A)=0.7
P(B)=0.3

(2) T A, BMHEMS A
P(AB) = P(A)P(B)
P(A U B)=P(B)+ P(A)— P(AB)
=P(B)+ P(A)—P(A)P(B)=10.7

5 0.7 =P %. 7—0.4 _
PO =P 1—=0.4 U8

3) B FACB, &
P(A Ui B)y=LB) =07
27, &P(A)=P(B)=P(C)=%, A,B,C MBI 5k

A,B,C 2D HB— 1.

P(AUBUC)=1—P(ABC)

1 PP (B (P 1 8 _ 19
=L G ey =1 — = = =
28. # P(B|A)=P(B|A),iRiEM .4 A 5 B ME M 7.
if HF PB|A=PB|A) H
P(AB) _ P(AB) _ P(B)—P(AB)
P(A) P(A) 1—P(A)
oy (1—P(A))P(AB)=P(A) (P(B)—P(AB))
[5'8 P(AB)=P(A)P(B)

L. H 44k A 5 B tHE 7.
29. RHEMH A5 B HEMN . IEH A 5 B AHE M 7.
iE BT A,BMEM,H P(AB)=P(A)P(B)
LA
P(AB)=P(B)—P(AB)= (1—P(B)) — (P(A)— P(A)P(B))
=0—P(B))(1—PA)))= P(K)P(B)
A 5 B MBS, ,
e __PB)
30. WEBA#E P(A)>0 ] P(B|A)>1 PAY
iEsE— FH P(B|A)+PB|IA)=1
i F ABCB,#k P(AB)<<P(B),

P e RCAB) _PB)
P(B|A)=1—P@B|A =1 P(A =1 PA)

1



